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- b) 32, 91 )71, 81 d)81 99

a). b) 10001 1 c)9501 - -d) 10501
- Number of ordmary years between two consecutive leap years is
a)4 years . b)2years c)1lyear d)3 years

5 22 years is equal to . CN :..... months. 5 o
'a) 25 B30 )24 d)5s. S ) O
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6. - “The numbers 29 and ___are twin primes. g, "y, o) Mg -
J.A,7. ~ The HCF of two successive even numbers is : I'"Is-, » 'r‘_‘)rv,,'_)“l,t,, }"f)t.( Qi
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III Say True or False - ; 93 ,3?-57,7.(':3 x1=3
o ‘.-' 9. Ifanumber is divisible by 6, then it must be divisible by 3. L 08

" 10."The HCF of 17 and 18 is 1. -

ll Vanmathi bought 4 books each weighing 500 8- Total we:ght of 4 books is 2 kg

IV Match ‘the followmg l : . X 4 , e B x1=3
12 7955 mmmmmmmemen- ~-10 rninutes to12 < . T : gF
13 ll 50  ---:--------  quarter past4 - R A

14 ) R 5 minutes to 10 - . |

V Ans wer Any Five Questlons of the followmg .  5x2=10

.15.. Fmd the dates of any month in a calendar Wthh are lelSlble by both 2 and 33
16. Find the prime factorisation of 60 by factor tree method and division method
17. F ind the HCF of the numbers 40 and 56 by division method. i
18. - Find the length of the longest rope that can be used to measure exactly the ropes
of length 1m 20cm, 3m 60cm and 4m. £
19, Geetha brought 2 / and 250 m/ of water in a botle. Her fnend drank 360 ml from .
’ it. How much of water is ‘remaining in the bottle?
.20 The .duration of electr1c1ty consumed by the farmer for his pumpset on Monddy and Tuesday
was 7 hours 20 minutes 35 seconds and 3 hours 44 mmutes 50 seconds respectlvely Fmd the
- total duratlon of consumption. of electricity. 9k Bt
21. Two pipes whose lengths are:7 m 25 cm and'8 m 13 cm joined by weldmg and
 then a small p1ece 60 cm is cut from the whiole. What is tlle remammg length of the plpe‘?

VI Answer Any Two Questlons of the following. & ' : o "2 x 3=6 .
22 What is the smallest 5 dxglt number that is exactly divisible by 72 and 1087 |

.23, Find the HCF and the LCM of the numbers 154, 198 and 286.

How many glasses-of the given capacity will fill 2 2 litre jug?

: (i) 100 m/ (i1) SO mi__ (m) 500 mit = (W) AL ()250ml  mkeMiTEMSNGLE
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